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In [1], equations (3) and (4) are not accurate. We need where the matrix on the right hand side has sizex m.

perform the time reversal operation from theth to the(L,+
m—1)-th samples, where: is the maximum tap after sampling
which is defined asnax; ;{7 sr, } Fs, Fs is the sampling rate
andLs = N+/{.,. We rewrite equations (3) and (4) as follows:

_ _ TN —(Lep—m)
Yii =V Pi(Xyxhsg,)r, + i, ) 0
Yio =/ Pi(Xa xhsg,)r, + i 4)
where (X; * hsg,)r. denotes theL, samples from then- 0
th to the (Ls + m — 1)-th samples in the linear convolution
X1 *hgg,, and(Xz * hsg,) 1. is similarly defined. The reason TN
for this change is because the signals in the above equatigns
(3) and (4) are the signals the relay nodes can receive due|to
the time dispersion from the source to the relay nodes. x1
We also rewrite the appendix in the following.
TN
APPENDIX
PROOF OF THECLAIM TN (0o —(m+1))

In the proof of the claim in the appendix on page 2223 in
[1], the time reversal operatq}(-) should not directly act on
the linear convolutiom x X and rather should act on it5,
samples from then-th to the (L, + m — 1)-th samples, i.e.,
should act on(h xX),,. Thus, the correct proof of the claim
is as follows.

Denote three vectorsh = [hy,ha, ..., hm]t, X
(21, ...,2zn5]T, andX = [TN—(0p—1)s 5 TN, L1y oo ry]T,m <
¢, < N. From the definition of linear convolution, we write
(h*X)r, as follows: [ ZN—(t0p—m)
(TN (tp—m) TN—(lep—(m—1)) -+ TN—(lep=1)] :
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Then we can writsS = (((h *X),) as
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In the following we will perform the two steps of CP
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- where the matrix above has si2é x m.

removal on¢((h*X)y,). The first step is equivalent to remove
the first/., rows of theL, x m matrix above to construct an
N x m sub-matrixS.p1, Which can be written as

The second step is equivalent to shift the bottp— (m —
{zhli, xxia}@e. udel . edu. 1) rows of the aboveV x m matrix to the top Ss.,2 Can be



written as
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Denote anN x 1 vectorh’ = [hy,ha, ..., hp,0,...,0]T.
From the definition of circular convolutior§.;.. = ((h') ®
¢(x) can be written as
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It is not difficult to check tha6.;,. = Sgtcp2, Which implies
the claim, i.e.,((h') ® ((x) can be obtained after Step 2.
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